04485 TEIRE , HEME

7= miiEA

M
AF. ERFRFERN.
KRR TEMN,

A
ARL2ARFNBEEILE,
EFiRZEZagbabiE,
RMAARMNBEEILE,

BEETR :
T) AAAE LR
S) RIRERFZ B &K 184

© norelem www.norelem.com



04485 TR E | WEMNHEH

r —— N ~— vy \ ﬁ@
Q | T l ____LFF=,_—. o '
= Ll L 1 _ | &‘ ’_:"'-
{\/P - 1 ‘f L S )
11 | | N == .
[da ] ] | I \____1 o _@
T =
1 | = /1 ! ! / | |
' | [
T
R
L A J
D £
/ [ ] | }
) A <
] T
J e ler g -
i N V. ;
AN [] | / 1
E
S
04485-02508 62 (22140114120 |3|14| 3 25-32 (12| 14 |85 5 14 75,5 M8x20 M4x8 6000 15
04485-03210 78 |25(/50|18|25/4|/18| 3,7 | 32-40 (16| 175 | 11 7 | 175 95 M10x25 M5x10 10000 30
04485-04012 93 |32/60(21|30|5/21|4,5| 40-48 [20| 20 13 8 21 113 M12x30 M6x12 17000 65
04485-04816 124 138|80|28(40(6/27| 6 48-63 |25| 26 17 10| 28 151 M16x40 M8x16 25000 130

© norelem www.norelem.com




